Roll No:-
Sem-V Diploma Exam 2023 (Odd)
(Mechanical Engineering (25) / Automobile Engineering / Mech. Engineering (Auto) (33)) (Theory)
[Time: 3 Hours] Automobile Engineering ( 2025503) [Max. Marks: 70]

- All questions are compulsory. (Hﬂ-ﬁ I°E] aﬁaﬁ% )}
- Marks are mentioned on the right side of each question. (3/& T+t 7% & T3 3R 3ifdhd fHA ]))

Group (A) (YU -Q)

Q.1  Choose the most suitable answer from the following options. (1*20=20)
(Tatfire Iued fawed o gaos ford ) -
i Connecting rod is attached to the piston by
(FefeFaT e &7 g1 foees o & SreT Smar 2))
(a) Rod cap (¥f= Fm) (b) Cap Bolt (7 =ree) (c) Lower Cap (sfrsre &) (d) Gudgeon pin (wrsr+ fo)
ii. In Compare to petrol engine diesel engines require
(TSI 5T T AT | oot <91 % forw #¥ ArFT9TFHAT BradT 2])
() Smaller flywheel (b) Bigger Flywheel (c) same size flywheel (d) No flywheel
(B FTE ) (TS FATEE ) (FTTEE ST F FATEEA)  (FTE TR T2
iii.  1C engine piston is generally made of
(3= =Y. 9 T foeed smaie 1 T F4T 2T 8])
(a) Cast Iron (b) Aluminum alloys (c) Carbon steel (d) None of them
(FT TeT) (refataa fore ) (FTaT wer) (T & 1< L)
iv. In a four wheel drive the number of gear boxes is
(3T =g 31ea ¥ e ate &t \@ear grar g))
(@)1 (b) 2 (c)3 (d) 4
V. is an S.1. engine.
( TF THLATE. T £])
(a) Diesel engine (b) Petrol engine (c) Gas engine (d) None of these
(Sroret E1) (TETeT 57eT) (i &) (37T & 7% )
vi.  Fuel injector is used in
(34 TFT AT AN # T STaT 8))
(a) Steam engine (b) C.1. engine (c) Gas engine (d) None of these
(i 35) (1. 3. Z51) (e E5T) (7TH & F1E 7T2N)
vii.  Alternate fuel which can replace conventional fuel in I.C. engine is
(ARfoTe o ST TS AT S5 § AT S99 ol TTaedTiod T T96dT § 98 2l)
(a) Hydrogen (gr=grs) (b) Biogas (aTrtH) (c) LPG (wer.dT.5M.) (d) All of the above (9% & +Y)
viii. is not the source of biogas.
(9" &7 &0 Tat g))
(a) Sewage (b) Crop residue (c) Vegetable waste (d) Mud
(GIEE) (FTT AFIT) (STt T FeT) (F=E)
ix.  Radiator tubes are generally made of
(Rus@Eamdr o %7941 g )
(a) Cast Iron (FgT =T=T) (b) Steel (=) (c) Plastics (=Tf®e) (d) Brass (atam)
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X. us more viscous lubricating oil.

(__ rfers o= s 9w g))

(@) SAE 30 (b) SAE 40 (c) SAE 50
Xi. The capacity of battery is usually expressed in term of
(S Y SHAT AHATE T =< T SATAT )
(@) Volts (b) Current in amperes (c) Weight
(AT=2) (orfre § gme) (3TT7)
Xii. is used in lead acid battery.
RSO d®_ F yEn G S gl)
(a) Hydrochloric Acid (b) Hydrofluoric Acid (c) Sulphuric Acid
(EMSIFATF UfEre) (BT UfHre) (A TfEe)
xiii.  Ignition coil is used to
(Zrer et FT ITANT & forT faraT STTaT 2))
(2) Step up current (b) Step down current (c) Step up Voltage
(FT T Fie) (FET TTST Fie) (FT AT FTee)

xiv.  The device for smoothing out the power impulses from the engine is called
(3T | <TT=R ST &1 ATE FIA & STHLIT Hl Tl STaT 8])
(a)Clutch (=) (b) Differential (RwifErar=r) (c) Fly wheel (wmgsgier)

xv.  The universal joint is used to connect two shafts
(FT=Ee STTEe T ITINT T ATHE T T SrE o forw T srar g))
(a) at angle (7= =) (b) in parallel (FmwT=aT #) (c) in series (3oft #)

xvi. A propeller shaft is tubular instead of solid because
(ST AITHE 316 o (1T S[AAY gIdT g F11% ST
(a) A solid shaft is weaker (b) Its sag is smaller

(ST 9T FHSE 24T 7)) (SET 9T BIeT raT &)

)
(c) It is more rigid
(arfer® ST BraT 2))

xvii.  The tilt of the car wheels from the vertical is called
(FTT F ITRU & FeAtew fRom & g4 FEATAT 2])
(a) Slip angle (&= =) (b) Camber (Fa7)

(c) Caster (w1%eX)

xviii.  The operation of removing trapped air from hydraulic braking system is known as
(FTSSTTerh SATT STOTTEAT & HHT g gaT il {HaTae st SORaT &7 FET STaT 8])
(a) Trapping (&fdT) (b) Tapping (ftT) (c) Preppurization (zaTa)

xix.  If brake wheels get locked before the vehicle stops, then it is said to be
(Ff% ATEA F TF | T o F T2 A1 gl ST g, a1 39 gl SITaT 2)
(a) Slipping (FFere) (b) Rubbing (zfam) (c) Sliding (wT=fm)

XX. Brake lining is mounted on

(7 AT AT T SATAT SATAT 2))
(a) Master cylinder (b) Wheel Cylinder (c) Brake shoe
(ATEe? fArei=y) (=T farefe) (% )
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(d) SAE 70

(d) Ampere hours
(TFfR )

(d) None of these
(FTH & F7E A21)

(d) Step up power
(F&T 1T ITER)

(d) Torque convertor (2t FHaex)

(d) in straight line (sr<et YT #)

(d) None of these
(TTH & FTE T2

(d) None of these (7% & #r< =2T)

(d) Bleeding (s=ftf=mT)

(d) Skidding (=)

(d) Brake Drum
(% 3)
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Q.2

Q.3

Q.4

Q.5

Q.6

Q.7

Q.8

Q.9

Group (B) (Y49 Eﬁ)
Explain the following terms-
a) Piston ring
b) Poppet valve
(R w=t it =TT -
(&) fomeam R
(&) T =)

OR (31Yd)

Draw the power flow diagram of 4-wheel drive vehicle.
(3T Tt ATEA FT oTfRE TATE FT A" FATE0))

Differentiate between conventional fuel and alternate fuel.
(e $u ST Awfoasw Sum % A= 3w wY)
OR (31YdT)

Discuss the necessity of gear-ratio in transmission.
(zterfrere § R SIqaTa T saedehdl 9% =7 H4])

Write any four advantages of epicyclic gearbox.
(ufarsiaes Rrear F el =re ot &1 forfem))

OR (31yYd)
List any four benefits of independent suspension system.
(FAET TEIRSI TOTEAT o fegl 9Te AT 7 TEaE FY)

Discuss the necessity of lubrication system in automobile.
(ATETHIETES | W YOIl T sraeevar 7 3= #{|)
OR (31Yd)

Write the effect of caster angle and king pin inclination in steering system.
(FERRT TorTet § e o ST i O gawra & g & ferfe))

Describe the purpose of front axle in a car.
(FTT | The TF % 29T T AU Fe|)
OR (31Yd)

List any two advantages and disadvantages of air cooling system.
(3T T TOITeAT o fheal &1 ATAT 3T gt &l Teiag #7))

Group (C) (ﬂ'qiﬁ)

Explain the construction and working of sliding mesh gear box.
(FATE R 79 Rrawatas & AT i FTAveT w1 aassu))
OR (31YdT)

Write the components of water cooling system and describe any one of them.

(Ster <fterere SorTeft  =raent 1 oy sie 3= & et ua 1 7ot o))

Discuss about the dumper truck and write its uses.
(S¥IT 2o F AL § F=T K90 37T T8k 3T forfa))
OR (31Yd)

Write in brief the construction and working principle of single plate clutch.
(Tt e F/er=r o fAwTor ud 1 Rrearea 1 99w 7 forfa))

Describe the construction and working of lead Acid battery.
(7= ufire =8t & w3 1At &7 quid w¢|)
OR (31YdT)
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Q.10

Q.11

Explain the working of disc brake with neat sketch.
(Fa=g o= 7 AT @ 8% 5% & w1 F 99A137))

Explain the working of A.C mechanical pump with neat sketch.
(Fa=z =t 7 \graT & vy, Fifeht 9 % w5 #7 quaArey))

OR (31Yd)
Draw the diagram of fuel injector and mention its silent point.
(FI 5T FT A TS 3T 86 T fawgelt T Ieerg HIform))

Compare between petrol and splash lubrication system with neat sketch.

(Fa= F=rt 7 AETaaT § USTe oY T WaH TTet § AT F:Y)
OR (31yd)

Describe the construction and working of battery ignition system.
(St =Rrers worreft 3 AT s wrAfAter T aue wY)
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